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A0

YYACTHUIUTE B OBIIECTBEHA
INOPBYKA C IPEJJMET

»A3BOP HA HH’KEHEP-KOHCYJITAHT
3A IPOEKT MEXJIYCHUCTEMHA
I'A30BA BPB3KA I'bPLHUSA-BBJITI'APUA“

Ha ocHoBamme unm. 33, ax. 2 or 3akoHa 3a
OOIIECTBEHUTE MOPBYKH, Bb3moxuTensaT
MIPENOCTaBs CICAHUTE Pa3siCHEHUS BBHB BPB3Ka C
nmonyueHo 3amuTBaHe Ha 06.05.2018r. oTHOCHO
JNOKYMEHTAIlMATa 3a ydYacTH€ B  OTKpHTa
TIporieIypa ¢ mpeaMeTa, IoCoUYeH Mo-Tope.

Ref. No 0-93 PP-05/10.05.2018
TO

ALL PARTICIPANTS IN PUBLIC
PROCUREMENT

“SELECTION OF OWNER’S ENGINEER
FOR THE GREECE-BULGARIA NATURAL
GAS INTERCONNECTOR PROJECT (IGB)*

On the grounds of art. 33, para 2 of the Public
Procurement Act, the Contacting entity submits
the following clarifications with regard to
received inquiry on 06.05.2018 concerning
documentation for participation in an open tender
procedure with the above subject.

Bwopoc:

ITuranero ce orHacs mo T. 2.1. ,,A3ucKkBanuda 3a
HKOHOMMYeCKO M (UHAHCOBO CHCTOSITHME® OT
JdokymMeHTanusaTa 32 00IIECTBEHA NMOPbYKA €
npeamer: ,,I300p Ha MH)KeHEP — KOHCYJTAHT
3a [Ipoext IGB”.

buxte 1M TOTBBEpAMIM, Ye IOCTaBEHOTO
W3UCKBaHEe 3a ,Munumanren 00w obopom,
usuucien Ha 6aza Ha eoduwiHume ob6opomu 3a
noCAeOHume mpu 200UHU He NO-MAaKo om 25
MUnUoHa espo (0gadecem U nem MUTUOHA)
O3Ha4yaBa, dY€  YYACTHUKBT TpsiOBa  nda
JIEMOHCTPUPA, Y€ BCEKU OT TOAUIIHUTE 000pPOTH
3a TOCIeNHWTe TpW (UHAHCOBH TOAHWHU
HaJBUIIaBa 25 MWIMOHA €BpPO W TOBa HE €
cyMmara Ha TpuTe 00OpOTa 3a MOCICIHHUTE TPHU
TOJIMHU, KOSITO HaJBUIIaBa 25 MUJIMOHA €BPO?

Question:
Reference is made to art 2.1. Economic and
financial status requirements of

Documentation for a Public Procurement with
Subject Matter ,,Selection of Owner Engineer
for the IGB Project”.

Would you please confirm that the requirement of
“Minimum Total Turnover calculated on the basis
of annual turnovers for the last three years not
less than EUR 25 min (twenty-five million)” set
forth therein means that the Participant shall
demonstrate that each of the annual turnovers of
the last three financial years exceeds 25 million
euros and not that the sum of the three turnovers
of the last three years exceeds 25 million euros?

Otrosop:

[MoTBBbpKIaBamMe pazOMpaHETO, Y€ H3UCKBAHETO
Ha MHHUMaJleH o011 000poT Ha CTOMHOCT He MOo-
MaJIKO OT 25 MMJIMOHA €BPO ce OTHAcs 3a cymara
Ha o0mmst 000pOT 3a TOCICTHUTE TPH TOAMHH, a
He 3a 000poTa 3a BCsKa rOJUHA OOTIEITHO.

Response:

We confirm the understanding that the
requirement of a minimum total turnover of not
less than EUR 25 million relates to the amount of
the total turnover over the last three years and not
to the turnover for each year individually.




